PRODUCT INFORMATION

5 — http://www. tokai-jd. j
_.202 @ ««O K | . J: U BRAHTOKA I

RREERXZ3-12-13

2022.09.15

s E =R NTRFYT i ERREREAN

DA T ME—ILR (B)

WDOLBHEIZHE-TEYET,
RBEOHIZDODEFELT, CEARABMLET,

SUE H 2022%10H1H
(iEES AR Z R

o TOKAI co.,Ltd. All right reserved.




A TIME—IILAEEHER

2022/9/14

(¥K)TOKAI
20224E10A 18 ik
bTE e ¥ € fi |8 7€ il il =

3DACF027F-31CS-AM N)ANTIYh 3G060 18,900 18,800 100
3DACF033F-7ES-AM NI NTYVUY 3G076 26,300 23,900 2,400
3DACF046D-5BR-AM NI ANTIYh 3G054 13,900 12,600 1,300
02475/20 A'TYY4" 70302 2,550 2,320 230
09067/195 ATV 70304 2,220 2,020 200
16012 ATV 4,050 3,700 350
22012RS B/G 2,730 2,550 180
2788R/20 A7)V 70091 2,290 2,080 210
28985/20 ATUYHT 70212 5,060 4,600 460
29586,/22 A'TYYY 75017 7,120 6,470 650
29685/20 ATUYH 70215 7,240 6,580 660
30302JRRS ATYY 75079 2,270 2,060 210
30307JR-1 AT 2,790 2,650 140
32KB02 A'TYYY 70317 5,640 5,130 510
33111JR ANTIUY 11,000 10,200 800
46T080603 A'TYUYHT 70093 8,900 8,090 810
47687/20 A'TYYY 70225 10,100 9,200 900
51101 ANTIUY 1,520 1,450 70
51104 NPV 1,590 1,510 80
51105 ANTIUY 1,700 1,620 80
51106 ANTIUY 1,850 1,760 90
51110 NPV 2,940 2,690 250
51113 ANTIUY 4,380 4,170 210
51204 ANTIUY 1,990 1,820 170
567,/563 A'TUYYT 70226 7,990 7,260 730
57307AYA1-9 A'T7YUhT 70094 4,860 4,420 440
598A/592A A'TYUH 70228 15,300 13,900 1,400
60/32 ATV 1,390 1,320 70
6002ZZCM ATV 740 700 40
6003ZZCM ATV 760 730 30
6007RKB-9C3 ATIUh 75047 2,000 1,820 180
6010CM ANTIUY 2,420 2,300 120
6010ZZCM B/G 2,780 2,650 130
6201ZZNR ATV 700 660 40
62022RDDC3 A'TYh 70588 2,010 1,910 100
6206C3 NI NTIY 1,160 1,100 60
6206CM ANTIVY 1,160 1,100 60
6206RS-1C4 A'TIUh 75008 1,570 1,430 140
6207CM ATV 1,530 1,460 70
6207YR6C3 A'TYh 70518 1,520 1,380 140
6208CM NPV 1,980 1,880 100
62222RSCM NPV 35,800 34,100 1,700
6300CM ATV 660 630 30
6301CM ATV 700 670 30
63042RSC3 NI ANTIUY 1,310 1,250 60
6304C3 NI ANTIUY 1,010 960 50
6305C4 NI ANTIUY 1,280 1,220 60
63072RSC3 NPV 2,910 2,770 140
6805-2RU NPV 1,790 1,660 130
68052RUCM NPV 1,790 1,660 130
6900 ATV 860 800 60
6902-2RU B/G 1,270 1,180 90
6902ZZCM NPV 1,130 1,050 80
69032RS NPV 1,310 1,220 90

2/13R=




e L ¥ 7€ {ii |8 %€ {ii Bl =
69032RU ATV 1,310 1,200 110
69042RS ANTIUY 1,340 1,250 90
69042RUCM ANTIUY 1,340 1,250 90
69052RS ATy 1,530 1,430 100
6906CM ATV 1,410 1,310 100
6907 ATV 1,570 1,460 110
69092RUCM ATV 2,810 2,610 200
6916 ATV 7,370 6,870 500
69162RU ATV 9,580 8,930 650
6922 ATV 20,800 19,400 1,400
70081C3 A'TYY 70542 3,600 3,270 330
7306 ATV 4,140 3,940 200
83A831GC5 A'TYY 70549 5,420 4,930 490
DAC2552W-11SH2CS25 A'TIUYS 75115 3,390 3,080 310
DAC2552W-13CS25 YA 7YY 75054 3,700 3,360 340
DAC28582RKCS47 A'TIYY 70254 6,970 6,340 630
DAC3562AW-1CS35 A'TIYS 70573 5,810 5,280 530
DAC357245CW2RS A'T7S 70018 8,660 7,870 790
DAC3668AWCS36 AT 70020 4,600 4,180 420
DAC4072W-15CS74 AT 75117 6,120 5,560 560
DAC4072W-3CS35 AT 70269 5,630 5,120 510
DAC4074W-7CS9 AT 75108 6,170 5,610 560
DAC4280WAHR4CS9 ATy 75015 13,000 11,800 1,200
DAC4580W-2CS66 A'TUYS 75110 11,300 11,000 300
DAC4584DWCS76 AT 75039 9,320 8,470 850
DAC4584W-16CS71 AT 75111 8,685 8,450 235
DG306216AW-12RK1SZ AT 75004 2,450 2,420 30
DG306725W2RSC4 AT 70040 2,980 2,710 270
DG3572DW2RKBCS27 AT 70042 3,300 3,230 70
DG358026WRKBC4 A7y 70585 4,180 3,800 380
DG358028W2RSC4 A'TYY 70047 4570 4,150 420
DG4080WRKBSH2C4 A'TYh 75041 4,420 4,020 400
NF307 ATV 5,470 5,050 420
NJ208 ATV 7,290 6,740 550
NJ307R ATV 7,260 6,710 550
NK12/16 ATV 1,370 1,300 70
R139B/1YDCS60 A'T7YY4 70183 3,860 3,510 350
CT48SA A'7YYH" 70008 38,000 34,800 3,200
CT52S A'7YYhT 70010 3,510 3,190 320
CT5582RUL1 A'TYYY 70012 4580 4,160 420
RCT2850-1RUBS A'TIYhT 70147 3,510 3,190 320
RCT337SA3-3-AM ATV 70159 4,470 4,270 200
RCT356SA6-AM ANTIUY 70244 3,990 3,630 360
RCT356SA8-AM A'T7YY4 70399 5,930 5,390 540
RCT356SA9—-2 A'T7YY4 73013 3,820 3,470 350
RCT363SA ATy 70164 5,080 4,620 460
RCT47SA6 ATV 73011 7,820 7,110 710
RCTS28SA A'TIYVUS 70122 4110 3,740 370
RCTS31SA A'TYYS 70123 8,850 8,640 210
RCTS338SA1 A'T7Yys 70132 4,360 3,960 400
RCTS338SA2 A'T7YY4 70133 5,810 5,280 530
RCTS338SA3 A'T7YY4 70389 5,750 5,230 520
16016 ATV 7,800 7,270 530
2201 ATV 2,100 2,000 100
2205-2RS ATV 4,100 3,900 200
30203JR ATIVY 1,440 1,370 70
30204JR ATV 1,480 1410 70
30205JR ATIVY 1,670 1,590 80

3/13R=




e L ¥ 7€ {ii |8 %€ {ii Bl =
30206JR ATV 2,000 1,900 100
30207JR ANTIUY 2,290 2,180 110
30208JR ANTIUY 2,730 2,600 130
30209JRYAT A'T7YY4 70312 3,230 2,940 290
30211RS-3B AT 70447 6,300 6,000 300
30212JR ATV 4,930 4,690 240
30213JR ATV 6,010 5,720 290
30214JR ATV 7,290 6,940 350
30215JR ATV 7,660 7,290 370
30216JR ATV 8,770 8,340 430
30217JR ATV 11,700 11,100 600
30218JR ATV 14,000 13,300 700
30219JR ATV 17,800 16,900 900
30220JR ATV 20,900 19,300 1,600
30303JR ATV 1,500 1,290 210
30304AJR ATV 1,590 1,510 80
30306JR ATV 2,370 2,250 120
30309DJR ATV 6,220 5,920 300
30309JR ATV 4,500 4,280 220
30310JR ATV 5,350 5,090 260
30311JR ATV 6,790 6,460 330
30312JR ATV 8,090 7,700 390
30313JR ATIVY 10,400 9,860 540
30314JR ATIVY 12,700 12,100 600
32004JR ATV 1,990 1,890 100
32005JR ATV 2,060 1,960 100
32006JR ATV 2,230 2,120 110
32007JR ATV 2,450 2,330 120
32008JR ATV 3,230 3,070 160
32009JR ATV 3,860 3,670 190
32011JR ATV 4,900 4,660 240
32012JR ATV 5,910 5,620 290
32014JR ATV 8,050 7,440 610
32015JR ATV 9,580 9,110 470
32016JR ATV 11,400 10,800 600
32017JR ATV 13,300 12,700 600
32019JR ATV 20,200 19,200 1,000
32020JR ATV 24,600 22,700 1,900
32021JR ATV 30,000 27,700 2,300
32024JR ATV 52,400 48,400 4,000
32026JR ATV 59,300 56,400 2,900
32206JR ATV 2,270 2,160 110
32207JR ATV 2,650 2,520 130
32208JR ATV 3,030 2,880 150
32209JR ATV 3,840 3,650 190
32209JRYA3 ATV 70329 3,610 3,280 330
32211JR ATV 4,690 4,460 230
32212JR ATV 5,590 5,320 270
32213JR ATV 7,460 7,100 360
32214JR ATV 8,210 7,810 400
32215JR ATV 8,980 8,540 440
32216JR ATV 10,100 9,580 520
32217JR ATV 12,400 11,800 600
32217JRYA A'TIYh 70465 11,900 10,800 1,100
32218JR ATV 16,400 15,600 800
32219JR ATV 20,600 19,600 1,000
32220JR ATV 24,500 23,300 1,200
32221JR ATV 36,700 34,900 1,800

4 /13 R—




e L ¥ 7€ {ii |8 %€ {ii Bl =
32222JR ATV 43,200 41,100 2,100
32304JR ANTIUY 2,260 2,150 110
32308JR ANTIUY 5,020 4,780 240
32309JR ATy 6,220 5,920 300
32310JR ATV 7,530 7,160 370
32311JR ATV 9,050 8,610 440
32312J ATV 11,400 10,800 600
32313JR ATV 15,600 14,800 800
32314JR ATV 20,800 19,800 1,000
32315JR ATV 26,000 24,700 1,300
32317JR ATV 41,100 39,100 2,000
33010JR A'TYYY 70470 8,080 7,690 390
33012JR ATIYY 70471 10,800 10,300 500
33012JRRS ANTYYY 70472 8,930 8,120 810
33013JR ATIUY 70474 12,300 11,700 600
33015JR ATV 17,000 16,200 800
33020JR ATV 58,600 52,600 6,000
33113JR ATV 15,100 14,400 700
33206JR ATV 6,260 5,960 300
33213JR ATIVY 18,700 17,800 900
33214JR ATV 21,100 20,100 1,000
33215JR ATV 24,000 22,800 1,200
57072JR-9 ATYYY 70293 9,850 8,950 900
57072JRLFTHR4 NI NTYYY 75034 11,900 10,800 1,100
60/22 ATYYHT 70497 950 900 50
60/22-2RS A'TIYY 70498 1,240 1,170 70
60/28 ATV 1,130 1,070 60
60/282RST1 A'TYh 70501 1,220 1,110 110
6000—-2RUCM A'TY)Y% 6000—-2RU 740 700 40
6000ZCM ATV 660 620 40
600027 ATV 660 620 40
6001 ATV 580 550 30
60012RSCM ATV 750 720 30
6001-2RU ATV 750 720 30
6001-2RUC4 ATV 750 720 30
6001-2RUCM A'7YY4 6001—2RU 750 720 30
6001RU A'7JY4" 6001RS 750 720 30
60017 ATV 670 630 40
600127 ATV 670 630 40
6002 ATV 640 610 30
6002-2RU ATV 830 790 40
6002-2RUC4 ATV 830 790 40
6002-2RUCM A'T7Y4 6002—-2RU 830 790 40
6002RU A'7YYh" 6002RS 830 790 40
60027 ATV 740 700 40
600227 ATV 740 700 40
6003 ATV 660 630 30
6003-2RSCM ATV 860 820 40
6003-2RU ATV 860 820 40
6003-2RUCM A'71)Yh" 6003-2RU 860 820 40
6003RU A'7YY%5" 6003RS 860 820 40
60037 ATV 760 730 30
600327 ATV 760 730 30
6004 ATIVY 720 680 40
6004—2RSCM ATV 940 880 60
6004-2RU ATV 940 880 60
6004—2RUCM A'7')Y5 6004-2RU 940 880 60
6004CM ATIVY 720 680 40

5/13 R—




e L ¥ 7€ {ii |8 %€ {ii Bl =
6004RU A'TU% 6004RS 940 880 60
60047 ANTIUY 830 780 50
6004727 ANTIUY 830 780 50
6005 ATy 820 780 40
6005-2RU ATV 1,070 1,010 60
6005—-2RUCM A'TYh 6005-2RU 1,070 1,010 60
6005RU A'T7U% 6005RS 1,070 1,010 60
60057 ATV 940 900 40
600527 ATV 940 900 40
6005ZZNR ATV 1,110 1,050 60
6006 ATV 980 930 50
6006—2RU ATV 1,270 1,210 60
6006—2RUCM A'TYh 6006—-2RU 1,270 1,210 60
6006RU A'TU% 6006RS 1,270 1,210 60
60067 ATV 1,130 1,070 60
600677 ATV 1,130 1,070 60
6007 ATV 1,210 1,150 60
6007-2RU ATV 1,570 1,500 70
6007-2RUCM A'T)Yh 6007-2RU 1,570 1,500 70
6007RKBSH4CS28 AT 75078 2,180 1,980 200
6007RU A'TY% 6007RS 1,570 1,500 70
6007SH1C3 A'TYh 75081 2,540 2,310 230
60072 ATV 1,390 1,320 70
600727 ATV 1,390 1,320 70
6007ZZCM ATV 1,390 1,320 70
6008 ATV 1,570 1,490 80
6008—2RU ATV 2,040 1,940 100
6008—2RUCM A'TY)Yh 6008—2RU 2,040 1,940 100
6008CM ATV 1,570 1,490 80
6008RU A'7YY%5" 6008RS 2,040 1,940 100
60087 ATV 1,810 1,710 100
600827 ATV 1,810 1,710 100
6009 ATV 2,030 1,930 100
6009-2RU ATV 2,640 2,510 130
6009-2RUCM A'7Yh" 6009-2RU 2,640 2,510 130
6009RU A'7YYh" 6009RS 2,640 2,510 130
60097 ATV 2,340 2,220 120
6009ZCM ATV 2,340 2,220 120
600927 ATV 2,340 2,220 120
6010 ATV 2,420 2,300 120
6010—-2RSCM ATV 3,150 2,990 160
6010-2RU ATV 3,150 2,990 160
6010—-2RUCM A'7Yh 6010-2RU 3,150 2,990 160
6010RU A'T7YY9 6010RS 3,150 2,990 160
60107 ATV 2,780 2,650 130
601027 ATV 2,780 2,650 130
6011 ATV 3,060 2,910 150
6011-2RU ATV 3,980 3,780 200
6011-2RUCM A'7IYh 6011-2RU 3,980 3,780 200
60117 ATV 3,520 3,350 170
601127 ATV 3,520 3,350 170
6012 ATV 3,440 3,270 170
6012-2RU ATV 4,470 4,250 220
6012-2RUCM A'7Y)Y5 6012-2RU 4470 4,250 220
6012RU A7) 6012RS 4,470 4,250 220
60127 ATV 3,960 3,760 200
601277 ATV 3,960 3,760 200
6013 ATV 4,150 3,950 200

6/ 13 R—




e L ¥ 7€ {ii |8 %€ {ii Bl =
6013-2RU ATV 5,400 5,140 260
6013—-2RUCM A'7JY4" 6013-2RU 5,400 5,140 260
6013RU A'T7YYY 6013RS 5,400 5,140 260
60137 ATy 4,770 4540 230
6013727 ATV 4,770 4540 230
6014 ATV 4,760 4530 230
6014—-2RU ATV 6,190 5,890 300
6014—-2RUCM A'T7JY4 6014-2RU 6,190 5,890 300
6014RU A'TYUY 6014RS 6,190 5,890 300
60147 ATV 5,470 5,210 260
6014727 ATV 5,470 5,210 260
6015 ATV 5,550 5,280 270
6015—-2RSCM A'7JY4" 6015-2RU 7,220 6,860 360
60157 ATV 6,380 6,070 310
601527 ATV 6,380 6,070 310
6016—-2RS ATV 8,550 8,140 410
6017-2RU ATV 10,100 9,650 450
6018—2RS NPV 11,800 11,300 500
6018CM ATV 9,100 8,660 440
6019-2RS ATIVY 14,000 13,400 600
62/22 ATYYY" 70504 1,020 970 50
62/22-2RS A'TYYY 70506 1,330 1,260 70
62/2227 ATV 1,170 1,080 90
62/28C3 A'TYh 70507 1,340 1,270 70
62/32 ATYYH" 70513 1,770 1,680 90
62/32NR ATV 2,120 2,020 100
6200-2RSC3 ATV 610 590 20
6200—-2RUCM A'TYY 6200—-2RU 610 590 20
6200ZZC3 ATV 540 520 20
6201 ATV 520 490 30
6201-2RSC3 ATV 680 640 40
6201-2RU ATV 680 640 40
6201-2RUCM A'T7Y4 6201-2RU 680 640 40
6201NR ATV 620 590 30
6201RU A'7YYh" 6201RS 680 640 40
62017 ATV 600 560 40
620127 ATV 600 560 40
6201-ZZCM ATV 600 560 40
6202 ATV 570 540 30
6202-2RU ATV 740 700 40
6202-2RUCM A'T7Y4 6202-2RU 740 700 40
6202CM ATV 570 540 30
6202NR ATV 680 650 30
6202RU ATV 6202RS 740 700 40
62027 ATV 660 620 40
6202ZCM ATV 660 620 40
620277 ATV 660 620 40
620277C3 ATV 660 620 40
6202ZZCM ATV 660 620 40
6203 ATV 660 630 30
6203-2RSC3 ATV 860 820 40
6203-2RSCM ATV 860 820 40
6203-2RU ATV 860 820 40
6203-2RUCM A'71)Y5" 6203-2RU 860 820 40
6203NR ATV 790 760 30
6203RU A'7)Y5" 6203RS 860 820 40
62037 ATV 760 730 30
620327 ATV 760 730 30

7/13 R—=




e L ¥ 7€ {ii |8 %€ {ii Bl =
6203Z2ZC3 ATV 760 730 30
6204 ANTIUY 750 710 40
62042RD-C3 ANTIUY 1,010 960 50
62042RSC3 ATy 980 920 60
62042RSCM ATV 980 920 60
6204—-2RU ATV 980 920 60
6204-2RUCM A'TYY 6204-2RU 980 920 60
6204C3 ATV 750 710 40
6204CM ATV 750 710 40
6204NR ATV 900 850 50
6204RSC3 ATV 980 920 60
6204RU A'TIUY 6204RS 980 920 60
62047 ATV 860 820 40
6204ZCM ATV 860 820 40
6204727 ATV 860 820 40
6205 ATV 880 840 40
6205-2RSC3 ATV 1,140 1,090 50
6205-2RSCM ATV 1,140 1,090 50
6205-2RU ATV 1,140 1,090 50
6205-2RUCM A'TUY 6205-2RU 1,140 1,090 50
6205C3 ATV 880 840 40
6205CM ATV 880 840 40
6205NR ATV 1,060 1,010 50
6205RS B/G 1,140 1,090 50
6205RU A'TUY 6205RS 1,140 1,090 50
62057 ATV 1,010 970 40
6205ZCM ATV 1,010 970 40
6205ZNR ATV 1,190 1,130 60
620527 ATV 1,010 970 40
62052ZC3 ATV 1,010 970 40
6205Z2ZCM ATV 1,010 970 40
6206 ATV 1,160 1,100 60
6206-2RSCM ATV 1,510 1,430 80
6206-2RU ATV 1,510 1,430 80
6206-2RUCM A'TIYh 6206-2RU 1,510 1,430 80
6206NR ATV 1,390 1,320 70
6206RU A'T7YYh" 6206RS 1,510 1,430 80
62067 ATV 1,330 1,270 60
6206ZCM ATV 1,330 1,270 60
6206ZNR ATV 1,570 1,490 80
620627 ATV 1,330 1,270 60
6206ZZCM ATV 1,330 1,270 60
6207 ATV 1,530 1,460 70
6207-2RU ATV 1,990 1,900 90
6207-2RUCM A'T7IYh 6207-2RU 1,990 1,900 90
6207NR ATV 1,840 1,750 90
6207RU A'T7YYh 6207RS 1,990 1,900 90
62077 ATV 1,760 1,680 80
6207ZCM ATV 1,760 1,680 80
6207ZNR ATV 2,070 1,970 100
620727 ATV 1,760 1,680 80
6207ZZCM ATV 1,760 1,680 80
6208 ATV 1,980 1,880 100
6208-2RU ATV 2,570 2,440 130
6208-2RUCM A'7Y)%" 6208-2RU 2,570 2,440 130
6208C3+CR1 A'T)Yh 70233 4,720 4,290 430
6208C4 ATIVY 1,980 1,880 100
6208NR ATV 2,380 2,260 120

8/ 13 R—=




fh L ¥ 7€ {ii |8 %€ {ii Bl =
6208RU A'TUY 6208RS 2,570 2,440 130
62087 ANTIUY 2,280 2,160 120
6208ZNR ANTIUY 2,670 2,540 130
6208727 ATy 2,280 2,160 120
6208Z2ZC3 ATV 2,280 2,160 120
6208ZZCM ATV 2,280 2,160 120
6209 ATV 2,420 2,300 120
62092RS ATV 3,150 2,990 160
6209-2RSCM ATV 3,150 2,990 160
6209-2RU ATV 3,150 2,990 160
6209-2RUCM A'T7Y4 6209-2RU 3,150 2,990 160
6209CM ATV 2,420 2,300 120
6209NR ATV 2,900 2,760 140
6209RU A'TYUY 6209RS 3,150 2,990 160
62097 ATV 2,780 2,650 130
6209ZNR ATV 3,270 3,110 160
620977 ATV 2,780 2,650 130
6210 ATV 2,820 2,680 140
6210-2RSCM ATV 3,670 3,480 190
6210-2RU ATV 3,670 3,480 190
62102RUC3 ATV 3,670 3,480 190
6210-2RUCM A'T7Y4 6210-2RU 3,670 3,480 190
6210NR ATV 3,380 3,220 160
6210RU A'TIYY 6210RS 3,670 3,480 190
62107 ATV 3,240 3,080 160
6210ZNR ATV 3,810 3,620 190
621027 ATV 3,240 3,080 160
6210ZZC3 ATV 3,240 3,080 160
6211 AT 3,290 3,130 160
6211-2RU ATV 4,280 4,070 210
6211-2RUCM A'T7YYY 6211-2RU 4280 4,070 210
6211NR ATV 3,950 3,760 190
62117 ATV 3,780 3,600 180
6211ZNR ATV 4,440 4,230 210
621127 ATV 3,780 3,600 180
6212 ATV 3,830 3,640 190
6212-2RU ATV 4,980 4,730 250
6212-2RUCM A'T7YYY 6212-2RU 4,980 4,730 250
6212NR ATV 4,600 4,370 230
62127 ATV 4410 4,190 220
6212ZNR ATV 5,170 4,910 260
621227 ATV 4,410 4,190 220
6213 ATV 4,840 4,600 240
6213-2RU ATV 6,290 5,980 310
6213-2RUCM A'T7YY 6213-2RU 6,290 5,980 310
6213NR ATV 5,810 5,520 290
62137 ATV 5,570 5,290 280
6213ZNR ATV 6,530 6,210 320
621327 ATV 5,570 5,290 280
6214 ATV 5,420 5,160 260
6214-2RU ATV 7,050 6,710 340
6214-2RUCM A'T7YYY 6214—-2RU 7,050 6,710 340
6214NR ATV 6,500 6,190 310
62147 ATV 6,230 5,930 300
6214ZNR ATV 7,320 6,970 350
621477 ATV 6,230 5,930 300
6215 ATV 5,980 5,690 290
6215—-2RSCM A'TIYY 6215-2RS 7,770 7,400 370

9/ 13 R=




e L ¥ 7€ {ii |8 %€ {ii Bl =
6215NR ATV 7,180 6,830 350
62157 ANTIUY 6,880 6,540 340
6215ZNR ANTIUY 8,070 7,680 390
621527 ATy 6,880 6,540 340
6216-2RSCM ATV 9,280 8,830 450
6217-2RS ATV 11,700 11,100 600
621727 ATV 10,400 9,860 540
6218—-2RU ATV 14,000 13,400 600
6219-2RS ATV 16,400 15,600 800
62242RS ATV 50,800 48,400 2,400
63/22 ATV 70521 1,470 1,400 70
63/28 A'TYY 70525 1,910 1,820 90
63/28-2RS ATV 2,480 2,370 110
63/32 NTIUUY 2,580 2,450 130
63/322RS ATV 3,350 3,190 160
6300—2RUCM A'TYh 6300—-2RU 860 820 40
6301 ATV 700 670 30
6301-2RU ATV 910 870 40
6301-2RUCM A'TYY 6301-2RU 910 870 40
63017 ATV 810 770 40
6301ZCM ATV 810 770 40
630127 ATV 810 770 40
6302 ATV 730 690 40
6302-2RU ATV 950 900 50
6302-2RUCM A'TUY 6302-2RU 950 900 50
6302NR ATV 880 830 50
6302RU A'TUY 6302RS 950 900 50
63027 ATV 840 790 50
6302727 ATV 840 790 50
6302ZZCM ATV 840 790 50
6303 ATV 880 840 40
63032RSCM ATV 1,140 1,090 50
6303-2RU ATV 1,140 1,090 50
6303-2RUCM A'T7JY4" 6303-2RU 1,140 1,090 50
6303NR ATV 1,060 1,010 50
63037 ATV 1,010 970 40
6303ZNR ATV 1,190 1,130 60
630327 ATV 1,010 970 40
6304 ATV 1,010 960 50
6304-2RU ATV 1,310 1,250 60
6304-2RUCM A'7IYh" 6304-2RU 1,310 1,250 60
6304CM ATV 1,010 960 50
6304NR ATV 1,210 1,150 60
6304RSC3 ATV 1,310 1,220 90
6304RU A'T7YY9 6304RS 1,310 1,250 60
63047 ATV 1,160 1,100 60
6304ZCM ATV 1,160 1,100 60
6304ZNR ATV 1,360 1,300 60
630477 ATV 1,160 1,100 60
63042ZC3 ATV 1,160 1,100 60
6305 ATV 1,280 1,220 60
63052RSC3 ATV 1,660 1,590 70
6305-2RSCM ATV 1,660 1,590 70
6305-2RU ATIVY 1,660 1,590 70
6305—2RUCM A'7Y)Y5 6305-2RU 1,660 1,590 70
6305CM ATV 1,280 1,220 60
6305NR ATIVY 1,540 1,460 80
6305RU A'7Y)Y4 6305RS 1,660 1,590 70

10 /13 R—2




e L ¥ 7€ {ii |8 %€ {ii Bl =
63057 ATV 1,470 1,400 70
6305ZNR ANTIUY 1,730 1,650 80
630527 ANTIUY 1,470 1,400 70
6306 ATy 1,660 1,680 80
6306—2RU ATV 2,160 2,050 110
6306—2RUCM A'TYh 6306-2RU 2,160 2,050 110
6306CM ATV 1,660 1,680 80
6306NR ATV 1,990 1,900 90
6306NRC3 ATV 1,990 1,820 170
6306RU A'TUY 6306RS 2,160 2,050 110
63067 ATV 1,910 1,820 90
6306ZNR ATV 2,240 2,130 110
6306727 ATV 1,910 1,820 90
6306ZZCM ATV 1,910 1,820 90
6307 ATV 2,240 2,130 110
6307-2RSCM ATV 2,910 2,770 140
6307-2RU ATV 2,910 2,770 140
6307-2RUCM A'TYY 6307-2RU 2,910 2,770 140
6307CM B/G 2,240 2,130 110
6307NR ATV 2,690 2,560 130
63072 ATV 2,580 2,450 130
6307ZNR ATV 3,020 2,880 140
630727 ATV 2,580 2,450 130
6308 ATV 3,300 3,140 160
63082RSC3 ATV 4,290 4,080 210
6308—2RU ATV 4,290 4,080 210
6308—2RUCM A'T)YY 6308—2RU 4290 4,080 210
6308NR ATV 3,960 3,770 190
63087 ATV 3,800 3,610 190
6308ZNR ATV 4,460 4,240 220
630827 ATV 3,800 3,610 190
63082ZC3 ATV 3,800 3,610 190
6308ZZCM ATV 3,800 3,610 190
6309 ATV 4,170 3,970 200
6309-2RU ATV 5,420 5,160 260
6309-2RUCM A'T7JY4" 6309-2RU 5,420 5,160 260
6309NR ATV 5,000 4,760 240
63097 ATV 4,800 4,570 230
6309ZCM ATV 4,800 4,570 230
6309ZNR ATV 5,630 5,360 270
630927 ATV 4,800 4,570 230
6310 ATV 4,980 4,740 240
63102RSC3 ATV 6,470 6,160 310
6310-2RU ATV 6,470 6,160 310
63102RUC3 ATV 6,470 6,160 310
6310-2RUCM A'7IYh" 6310-2RU 6,470 6,160 310
6310CM ATV 4,980 4,740 240
6310NR ATV 5,980 5,690 290
6310RU A'7)Y4" 6310RS 6,470 6,160 310
63107 ATV 5,730 5,450 280
6310ZNR ATV 6,720 6,400 320
631027 ATV 5,730 5,450 280
6311 ATV 5,880 5,590 290
63112RS ATV 7,640 7,270 370
6311-2RSCM ATV 7,640 7,270 370
6311-2RU ATV 7,640 7,270 370
6311-2RUCM A'7)Y5 6311-2RU 7,640 7,270 370
6311NR ATV 7,060 6,710 350

1 /13 R—=




e L ¥ 7€ {ii |8 %€ {ii Bl =
6311RU A'TYUY 6311RS 7,640 7,270 370
63117 ANTIUY 6,760 6,430 330
6311ZNR ANTIUY 7,940 7,550 390
6311727 ATy 6,760 6,430 330
6312 ATV 7,200 6,850 350
6312-2RU ATV 9,360 8,910 450
6312-2RUCM A'T7Y4 6312-2RU 9,360 8,910 450
6312NR ATV 8,640 8,220 420
63127 ATV 8,280 7,880 400
6312ZNR ATV 9,720 9,250 470
6312727 ATV 8,280 7,880 400
6313 ATV 8,810 8,380 430
6313-2RU ATV 11,500 10,900 600
6313-2RUCM A'TYY 6313-2RU 11,500 10,900 600
6313NR ATV 10,600 10,100 500
6313RU A'TYYY 6313RS 11,500 10,900 600
63137 ATV 10,100 9,640 460
6313ZNR NPV 11,900 11,300 600
6313727 ATV 10,100 9,640 460
6314 ATV 10,600 10,100 500
6314—2RU ATV 13,800 13,100 700
6314—-2RUCM A'TUY 6314-2RU 13,800 13,100 700
6314CM ATIVY 10,600 10,100 500
6314NR ATIVY 12,700 12,100 600
63147 ATV 12,200 11,600 600
6314727 ATV 12,200 11,600 600
6315 ATV 13,500 12,800 700
6315-2RU ATV 17,600 16,600 1,000
6315-2RUCM A'TUY 6315-2RU 17,600 16,600 1,000
6315NR ATV 16,200 15,400 800
63152 ATV 15,500 14,700 800
631527 ATV 15,500 14,700 800
6316-2RUCM A'T7YYY 6316-2RU 21,200 20,200 1,000
6317-2RUCM A'T7YYY 6317-2RU 23,800 22,600 1,200
6318-2RUCM A'T7YYY 6318-2RU 31,500 29,900 1,600
6319-2RS ATV 39,700 37,700 2,000
6802-2RS B/G 1,480 1,380 100
68032RS ATV 1,550 1,470 80
6804-2RS ATV 1,590 1,480 110
6806—2RS ATV 2,210 2,070 140
69002RSCM B/G 1,120 1,010 110
6900-2RUCM ATV 1,120 1,010 110
690027 ATV 990 900 90
69012RUCM ATV 1,160 1,080 80
690127 ATV 1,020 960 60
690277 ATV 1,130 1,050 80
690327 ATV 1,160 1,080 80
6903ZZCM ATV 1,160 1,060 100
690477 B/G 1,190 1,080 110
6905 ATV 1,180 1,100 80
69052RU ATV 1,530 1,430 100
6905ZZCM ATV 1,360 1,290 70
6906—2RU ATV 1,830 1,660 170
6906—2RUCM A'7Y)Y5 6906-2RU 1,830 1,700 130
690627 B/G 1,620 1,540 80
69072RS ATIVY 2,040 1,900 140
6907-2RUCM ATIVY 2,040 1,900 140
690727 ATIVY 1,810 1,680 130

12 /13 R—




e L ¥ 7€ {ii |8 %€ {ii Bl =
690827 ATV 2,020 1,920 100
6909 ATV 2,160 2,010 150
6909-2RS ATV 2,810 2,610 200
6909-2RU ATV 2,810 2,610 200
6910 ATV 2,620 2,440 180
6911-2RU ATV 4,020 3,820 200
6912 ATV 3,610 3,430 180
7205B ATV 2,800 2,660 140
83A504SH2C3 A'T7IYUs 70548 2,430 2210 220
NF312 A'7Ju4" JISB1533 16,800 15,500 1,300
63022RUC3 ATV 950 900 50
320/28JRRS-2 A'T7JY4" 70321 2,520 2,290 230
33005JRLFT A'7YY4" 70330 2,020 1,840 180
57355 A'T7Y4 70347 3,410 3,380 30
LAT1032 A'T7YY4" 77059 5,300 5,060 240
PU207021BRR1XY A'7Y0h 77040 8,660 7,870 790
PU214225RR1XRRIXY1 A'7YUh 77051 6,000 5,450 550
PU214227RR1XRRIXY1 A7y 77038 5,510 5,010 500
PU245028DRR1DV A7y 77013 4,840 4,400 440
PU245028RR1DV3 ATV 77069 3,960 3,600 360
PU265025RR1DRRIDV A'TYYY 77066 6,170 5,610 560
PU275531CRR1FVS02 A7y 70378 5,530 5,030 500
PU276033CRR1D ATy 77065 4,900 4,840 60
PU315728ARR1DY A'TVUh 77047 4,150 4,070 80
PU351128RR1HY2 A'T7YUh 77004 9,700 9,570 130
PU385827ARRIDY A'T7YY4 77018 4,200 4,020 180
U00345F A'TYUY 77011 4,290 4,100 190

13/ 13 R—=2




